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Charmene has a baby called Louis.
Louts goes to the nursery.

The nursery staff make up bottles of milk for Louis.

Louis has 2 bottles of milk at the nursery each day.
Each bottle of milk needs 7 scoops of milk powder.
One scoop weighs 47 g

Charmene gives the nursery staff milk powder in 900 g tins.

‘Charmene thinks a tin of milk powder will lastfor 13 days. s she right?
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Janine wants to put sand in the sandpit at the nursery.

‘The sandpit s in 2 rectangular space with length 4.5 m and width 3.5 m.
Janine wants tofill the sandpit with sand to 2 depth of 300 mm.

Shefinds out on the internet that each bulk bag of sand covers an area of S 7 to @
depth of 100 mm.

Volume of a Cuboid = Length x Width x Depth

How many bags of sand does Ja

need tofill the sandpit?
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